HELER

T & & FR B & - T & B |REtHE | BERE| B =
T Y 1 1
HEA /INEAE BHO.28m m3 161.4 160
RAE /INEAE BHO.28m m3 16.7 20
BEREL /INEAE BHO.28m m3 8.4 8
TEERRT BH0.28m DT-4t L=5.0km m3 168.8 170
ih BRI ZAMTOIUNIE m3 168.8 170
Pk = 1 1
UR! I8 T (@ FIA) (2408 m 80.5 81
URMAIIEEERET [240% m 80.5 81
URMAIE CoZEaRE T | 2408 4 12 12
HETL = 1 1
TREBHET RC-40 t=20cm m 487.1 487
LTRERET C-20 t=10cm m 487.1 487
xREL OBEEBHEAS(13F) t=4cm m 4871 487
I = 1 1
AR T(REEEEIE) |C-20 t=5cm m 7.0 7
AsTHZE hR U B t=15cmLL T m 5.4 5
AsEHEE IR FCNRAR) | DT-2t L=4.8km B Z T m 5.9 6 0.7t
19\ -FEEL GBS - A7) |DT-2t,L=4.8km, Bk = L m3 1.6 2 3.8t
EEABBEES AN|DT-2t,L=4.8km B = m3 0.2 0.2 0.4t
RE&RT = 1 1
RBFER XEHEESB 10H x2A = 1 1
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& SIE - R ~Tik EREUEHK = (B
YEHI INEAE BHO.28m | V= 161.4 161.4 | m3
RYE INREE BHO.28m | V= 16.7 16.7 | m3
HERL INFAE BHO.28m | V= 8.4 84| m3

BHO0.28m

TEHERRT DT-4t L=50km| V= ( 1614 + 167 ) - 84 = 09 168.8 | m3
Bith BioAcomE| V= THERTERC 168.8 | m3
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N 106.80 161.4 16.7 8.4




T3 :  HKT

% ¥R RRAE - STk ERRERUERK g |Bfz
UBLAERET
G 240%! L= 805 80.5 m
URIBIEBRET [2408 L= 805 80.5 m
URfI#cozRET |2408 N= TEEELY = 120 12| #%
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UZ ;82408 VR EIEFICoE 240%!
(T-14L500)

240

o [

100 290

coce

BEITYSNTY

440 (RARAE O 40mmELT)

AKX 180kg/2m(5%E)

CoZ  29kg/H(BE)
10m%YyY
& M R -~TE i 5 = B

BERA

HEEtRR BxmEomUT[A = 044 x 100 - 24| m
V = 44 x 0.1 = 0.44] m3

URAIFEFCo= [240FY L500 10m =+~ 05 = 20| &,
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% F R -~k EREUERK = =i
TRERET RC-40 t=20cm| A= @#IstEssy = 4871 4871 m
LRERET C-20 t=10cm | A= @SEIsHEELY = 4871 4871 m
OB EZTHEAs _ _
xET (13F) t=4cm A= SETHEELY = 4871 4871 | m
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| Nos e oso | esw| 270 am  asal 270 a7 asal om0 20 asal
I N s O A O
I e I I e o I P

AN E 106.80 487.1 487.1 487.1




HEFHEE
I : # T
£ FR BT BEREUER = |[H{
HEART
(FEEEEIE)  [c-20 t=5cm | A= HMTIHEERELY = 70 70l m
AsERZERRUIMT [t=15cmlATF | L= HMIEEEKLY = 54 54 m
AsEREZERRERER |
(VRIS LaskmEat | A= HIETERLY 5.9 59| m
BAIATEE E-2.35t/m3
28 W= 59 x 005 x 235 = 0.7
9U-bERERL |
(B AN  |=smBgas | V= HMIEEREY = 16 16 | m3
BAIATEEE-2.35t/m3
28 W= 16 x 235 = 38 t
EERERE |, B AT EE=2.35t/m3
EH-AN)  |=ssmEmas | V= HMIEEREY = 02 02| m3
[94kg/m]
28 W= 40 x 0094 = 04 t




M T BHOE X

No.3 ~No.4+3. 74F 3

®
AsEHEERRYIBT  t=15cmLlL T
L=5.40m
@ AsEhZE AR B R (/NFRAR)  t=bcm

No.4+3. 7

A=5.40x1.10=5.9m
(5.9m x0.05x%x2.35t/m3=0. 7t)

WHY-tERER L ($EEH - A1) t=bem
@® V=7.00x2.00x0.05=0.7m3

No.2 ~ No.3 5

No. 2
No.3

AEHEMME 2408 ﬁkﬂ%l (;Flzi?éIE) 0_20 t:50m
A=7.00x1.00=7.0m

EEABERE (EH - AN
240%  [94kg/m]
V=4.00mx0.094+2.50t/m3=0. 2m3
(4.00mx0.094=0. 4t)

@ V=9.00x2.00x0.05=0.9m3
i V=1.6m3(1.6m3x2.35t/m3=3. 8t)
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